7Y

/ e st s e o nnu B e e e e P LV e
i o et s et et et e ] EE NSRSV S S e o A i % i M. P
n [ o e e e ..m e e e i o e, e o S _h _p \ ,..“ w. P e
W ) ARyt e o e m e P e e S i e i S e B e e e e e S e e, e 4 F .ﬂ Vith A A e —_
o] O | o o et i e o et - oy L e M o S Sy o [ ey e e B, e S e e e o B UL U § [ e
i . Lo 5 o st o o e = S e S S S e e e ——m s N 7 e e
2 Vit PN R NN et AN AL i
o H T o et i o) ANANAY VYN e m “— \ ,, [ 7t e e
@ bt FHE S o o ot s ot = 4 _v Vi LERY ,” ., i S i ,. e
I= ALt edocton B SEEEEREEE! et A B W W N o et
= - ST e e
c AR 1..\\\\\\\& TV 7
W 8 AN LN —oo A e
" = NN RN TN NN et S U U B D e et e
[5} = e S S e e B L B W B I B
4=} aaux e e, S M, i, i, o f P T e S P, o, o e, st i _“ H ’_ m. m P
e . e et e e e e st 8 5 q__ w w. w. ._9__\\\ P
Q) e e, o o P S e e e e S e e e e e __ ._F LY ﬂ. __\ S it e e
B e e e = —_——— e W et 2 _. i _ B
% A e S o] % SN N ST U AN U B e A B R R g
= = i
) & et
¥ &S =
Q ) [«
= = 2
= = B0
: £
] B J<b] —
z 70 O 2 O N P
g T 1 = + g @ — » f
= O > % 20 O o 2 4+ ==
< l_l 4 P o o = l_l L N
S 4+ e | W = s + Tl T [ e 2 > ow ™ D H
~ +
g al 8 - Y 8 g aq = e OF ooy
° %l Sl s 0% Tl Lo w -
& 0ol Lo Lo oy g ® m ™ 2
: —
T 2 oa > 2 > == = S m o I~
T = —~ e~ T fa 8|
L2 m\Aa o BA . m A = 4 = B
5 g & 3 o
o]
S o 3
o = %
S 3 o
= 8o w
) g =
[77] Ryl
= 5 & =
2 = 2 |
o E B @
—
g 9 © © £ =
oy 0 + + =i @ + [ = o
- O ey Sy C — Q P~
= ' m o 9 > = + _
= Y rwES 8 % F o € = w oo
.m » o O = = ..m g ow v O & n..um_s .m W e e
a0 Il il Il I S il fl il I = f__ Il I .,__ _
@) =~ N -~ NI | W o = = = = = (9] - - ~
~f < o = U i w A Q = U Py s < U &R O i



e

solmton o

T T B 0 b ot e i
S b A e e B e e i
A | 8 e e e e
o P g T i et e
T e T e et et et et
S it e
\\._ﬂ.\\ il ot e e
s

]

\

f Al S
S

P R e
i \ \\\\\\\\\.\\.\..\.\
J A s g e

|\ Ny
W77
any \\\w\\\

P
%]
P B S Y AR N
IF P e NN N
H P B T Y Y VN

given below:

_\_ 2 e e S o, e R ~

3
i
H
T, T S S, o, e % \ /
i _\ / e e e e N S Y
.,
~

e e M, i

ey g oy e e Py

8
{
/
!
/
!
/
!
!
/
7
'.'
7
/

2t+1

|

0
J) 4/ ="eos(t)

H) Yy

F)y

H)

J
Fyy=y—1

=

e

1.) For each of the following differential equations (i} draw its direction field; (ii} sketch the solution

of the direction field that passes through the point (-2, 1); (iii) state the gener

8.1 supplemental HW
differential equation.

2.} Circle a solution to the differential equation whose direction field i
Y
3.) Circle the gifferential equation whose direction field is given below:
y'
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slope field - Wolfram|Alpha http://www.wolframalpha.com/input/?i=slope+field&rawformassump...
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Assuming "slope field" refers to a computation | Use as referring to a mathematical definition instead

# variable 1. X

» lower limit 1:

= upper imit1: 5
= variable 2: y o

i lower limit 2: -3

@ upperlimit2: 5

Input:

Lot
Vectorﬁot[ { “‘“‘*"2‘”} %, -3, 5}, (y, -3, 5;];

1
((1-x) (Z—y)2
Result;
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